0.875

— &5~ HD1805 SURFACE BOLT
0.285 SQUARE 0.000 INCH
[7.24] | | | | [000.00] METRIC
ML _ L _ L _ L
* Iy i I |
) 1.438 O »
2031  1.438 N | 2.031 . ]
[51.59]  [36.51] - i T9 7T [51.59]% [36.51] ] 1 &‘Fa
| | | a, &
M Il 1Al [ —]
Iy
UNIVERSAL STRIKE ! BOLT GUIDE ! ! 8.500 ! 1250
0.250 0.188 [215.90] [31.75]
- [6.35] [4.76] TYP. - THROW
0.031 [0.79] =
MIN. F__? - F__? T F_T 2.031
[ CLEARANCE T ‘ 1.500 T Tz500 ‘ [T [51.59]
[ [27.78] [-H [27.77] [H
- i i A A
_0-10565 1250 |||l Il \—®®0-39$
[1.59] BLE |l [ [0 9.91
DOOR Il DOOR |
Il Il
Il Il
— —
BOLT GUIDE . 2.000
4 | #12 x 2-1/2" PH FLAT HD SHEET METAL SCREW [~——3.50 [89] ——==—
(STANDARD) 0.38 [10]—m] |a— 2.75 [70] —==] _ [50.80]
BOLT GUIDE 4 | 1/4" X 20 X 2" PH FLAT HD MS SCREW ] 0.87 | 0.38 B
(SEXBOLTS) 4 | sexBoLT - 358" DIA. 131 | P2 (101 4 I _
UNIVERSAL STRIKE | 2 | #12 x 1" PH FLAT HD SHEETMETAL SCREW * (33] |
0.81
MORTISE STRIKE | 2 | #12 x 1" PH FLAT HD SHEETMETAL SCREW 1_@)3 R s ? 087 [gblgg] -
RIM STRIKE 4 | #12 x 1" PH FLAT HD SHEETMETAL SCREW 41 ? | i [22]
N.
INSTRUCTIONS: 0_6}—25 ‘@* ‘@* 3
1. DETERMINE SIDE OF DOOR TO WHICH BOLTS ARE TO BE APPLIED. COUNTER SUNK [15.88] N
2. DRILL AND TAP MOUNTING HOLES IN DOOR FOR BOLT. FOR #12 SCREW 0375953 | r b
3. ATTACH BOLT TO DOOR. { f i ' =
4. SELECT EITHER MORTISE STRIKE, UNIVERSAL STRIKE OR RIM STRIKE. L I I I f _ [12-204?
5. ALIGN STRIKE WITH BOLT. } 0375__ | :
6. PREPARE STRIKE MOUNTING HOLES. 0.19[5] 19-53] ) s 0.188
7. ATTACH STRIKE. [15.88] 1000 [4.76]
NOTE: HOLLOW METAL DOOR & FRAME SHOULD BE PROPERLY REINFORCED MORTISE STRIKE [25.4]
WITH ¥ [5] MINIMUM THICKNESS PLATE. RIM STRIKE

FOR CUSTOM LENGTHS CONSULT FACTORY. FOR EVERY 12" IN ADDITIONAL LENGTH AN EXTRA MOUNTING BRACKET WILL BE PROVIDED.

® www.abhmfg.com
E-mail: abhinfo@abhmfg.com

Architectural Builders Hardware Mfg., Inc.
1222 Ardmore Ave., ltasca, IL 60143
630.875.9900; FAX 800.9FAXABH (932.9224)

(©)2013 ABH Mfg., Inc.
printed in USA

HD1805-03.DWG

HD1805

PAGE 1 OF 1
REVISED 06-27-13




